SCHEMAT POMIESZCZEN ISTNIEJACYCH

_—_—_— . | TOALETA
| POMIESZCZENIE | [
[~ 3l i SOCJALNE i POW= 3 m2
! GABINET I e H=4,19m
| MEDYCZNY | POW= 7,6 m2 OB=72m
[ ] H=3,63m
POW= 16 m2 OB=11m
H=3,04 m .
0B=153m  E— o
TEO
IES
IR
45
=7
1081
POMIESZCZENIE] -2
GOSPODARCZE { POW= 2,5 m3
H=4,19m
POW=1,8m2 [OB=7.2m
H=4,19m
OB=5,3m
r i
| GABINET | [ ]
| MEDYCZNY | | KOMUNIKACJA |
POW= 23,5 m2 i —— 4
H=2,94m POW= 22 m2
0B=24m H=2,97m
0B=30m
r——— T 1
! GABINET |
| MEDYCZNY |
b d
;r GABINET 7; POW= 19,6 m2
| MEDYCZNY | H=2,97m
[ ] 0B=19,5m
POW= 18 m2
H=2,94m
0B=19m
il o ]
| PRZESTRZEN | I !
| RECEPCSI | | KOMUNIKACJA |
L J | ]
POW= 3,8 m2
H=2,69m
0B=8m
S 7 oy O O
I I
| KOMUNIKACJA | L% ~ES »NE/
! | [TTTTTTTT T 7
7777777777777 | |
””””””” 1 - | RECEPCJA |
| GABINET | Fowy 25 m2 ! |
| PEDIATRYCZNY | 0B="15m
POW= 12,6 m2 POW= 27 m2
H= 2,96 m H=2,75m
OB=15m OB=24m

4 WEJSCIE




